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FOM 10 - Chapter 5 Unit Test

Show all of your work. Circle or clearly indicate your final answer in the space
provided.
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1. Graph the following linear equation (1 mark):
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2. Write the equation of the line passing through the point (—6,11)
with a slopem = _?2 in point-slope form (2 marks).
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3. Find the slope and y-intercept of the line 6x —y = —3 (2 marks).
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4. Write the equation of the line in slope-intercept form and
standard form (2 marks).

¥ ~ %
Y - = Ext 2
i Zod
: Fs-"f (o . (qg._ +\j:2>k"3
—F W\'— "-'.;; : 3% ‘
g""’f :727-—— %j; “"<e
X
- %
Slope-intercept form: é"’ 3% 2

- == ],
Standard form: __ o 5%{) -\

5. Write the equation of the line, in slope-intercept form, that
passes through the points A(—5, 9) and B(1, 3) (2 marks).
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6. Is the following system of equations parallel, perpendicular, or

neither (3 marks):
2x—5y=-3 and 10x+4y=1
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7. Write the equation of a line, in slope- mtercept form, that is
perpendicular to 4x — 3y = 6 and passes through (8,2) (2 marks).

Ny
M= =4 AR
3'%“” C
\3: O lo |
2= -%( ¢) ‘b \ bé »h\_\g’v/*

2=-b4l { b=l

8. Write the equatlon of a line, in standard form, that is parallel to
3y + 1 = —4x and passes through (5, —2) (3 marks).
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9. Write the equation of the 11ne perpendlcular toy=7 that passes
through (2, 8) (1 mark). \f\;\i Lre , M= 0
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10. Write the equation of the line, in slope-intercept form, that is
parallel to the line on the graph and passes through the point

(5, —3) (3 mar;ks). M= _&_2_.
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11. Find the equation of a line, in slope-intercept form, that is
parallel to y = gx + 7 with the same y-intercept as 3x + 2y = 6
(2 marks).
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12. For f(x) = —2x + 7, find (1 mark each):

a. f(5) b) f(—4)
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13. To ship a package from Victoria to Ottawa overnight costs $27.30

for a 1 pound package, and $38.80 for a 3 pound package. B
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a. Sketch the graph the linear relation between the cost, C, and the
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(fb c)hange (1 mark).

c. Find the fixed cost (1 mark).
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d. Write the cost equation for this linear relation using your answers
from b and ¢ (1 mark).
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e. Find the cost of shipping a 6.5 pound package (1 mark).
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f. If a package cost $45.70, how much does it weigh (1 mark)?
us o = SIS W + 2SS
Mg = ST W

W= Udies




Name:

Block:

BONUS (1 mark).

Find the equation of the line y = mx + b given the following:
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